

**Entraînement 1** Calcule

$+ 6 + 12 =$	$+ 3 + 80 =$	$+ 50 + 2 =$	$+ 30 + 8 =$
$- 6 + 6 =$	$- 3 + 3 =$	$+ 50 - 50 =$	$- 50 - 50 =$
$- 6 + 20 =$	$- 3 + 70 =$	$- 50 + 10 =$	$- 70 + 1 =$
$+ 6 - 30 =$	$+ 3 - 20 =$	$+ 50 - 15 =$	$+ 70 - 9 =$

**Entraînement 2** Ecris sans les parenthèses

$+(+5) = \dots\dots\dots$	$- (+5) = \dots\dots\dots$	$- (+8) = \dots\dots\dots$
$+(-5) = \dots\dots\dots$	$- (-5) = \dots\dots\dots$	$+ (-8) = \dots\dots\dots$
$+(+9) = \dots\dots\dots$	$- (+9) = \dots\dots\dots$	$+ (+8) = \dots\dots\dots$
$+(+5) = \dots\dots\dots$	$- (+5) = \dots\dots\dots$	$- (-8) = \dots\dots\dots$
$+(-5) = \dots\dots\dots$	$- (-5) = \dots\dots\dots$	$+ (-15) = \dots\dots\dots$

$- (-12) = +12$	$+ (-12) = -12$
$- (+15) = -15$	$+ (+8) = +8$
$- (-9) = +9$	$+ (-9) = -9$
$- (+1) = -1$	$+ (+1) = +1$
$- (-6) = +6$	$+ (-12) = -12$

**Entraînement 3** Supprime les parenthèses et calcule

$(+6) + (+12)$ = ... 6 ... 12 = .....	$(-6) + (-12)$ = ... 6 ... 12 = .....	$(-6) + (+12)$ = ... 6 ... 12 = .....	$(+6) + (-12)$ = ... 6 ... 12 = .....
$(+6) - (+12)$ = ... 6 ... 12 = .....	$(-6) - (-12)$ = ... 6 ... 12 = .....	$(-6) - (+12)$ = ... 6 ... 12 = .....	$(+6) - (-12)$ = ... 6 ... 12 = .....
$(+8) - (+1)$ = ... 8 ... 1 = .....	$(-8) + (-1)$ = ... 8 ... 1 = .....	$(-8) - (+1)$ = ... 8 ... 1 = .....	$(+8) - (-1)$ = ... 8 ... 1 = .....
$(+8) - (+1)$ = =	$(-8) + (-1)$ = =	$(-8) - (+1)$ = =	$(+8) - (-1)$ = =
$(+9) - (-2)$ = =	$(-2) + (+9)$ = =	$(-9) - (+2)$ = =	$(-9) - (-2)$ = =
$(+8) + (-1) + (-8)$ = =	$(-2) + (+9) + (+2)$ = =	$(-9) - (+2) + (-3)$ = =	$(-9) - (-2) - (-6)$ = =

